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Geudlufwer/ CHEMISTRY

(- slBlp omHmn copiidley @npl / Tamil & English Version )

[ Gongg wiibuerser : 70
[Maximum Marks : 70

oMlejerset : (1) . olanefg) eilesmds@nid siluime Lfleurdl 2_erarg eraLgenen sMLIMTSL)%

Instructions :
@My :
Note :
@My = (i)
(ii)
Note : (1)
(ii)

Qaneremayib. FaslIISella @eanmullrmiier, enns & @toT & memot| L1 LMt L_LD
D1 6By WIS Qg M 6lldsme|Ln.

Beold @@y HBLUY  @wullener LLHCL  TPGHUSDHGLD
g 5GamgHeugsn@n Luaulb55 Goeuenr(HD. UL TRIGET aU6n el &

Quendled LIwGT(HSS6|D.

Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
Usc Blue or Black ink to write and underline and pencil to draw

diagrams.

Ggaauwimer EL-gdled LLLD eUEnTHG), FLGTUM(NSENET 6T(LHSEYLD.

Draw diagrams and write equations wherever necessary.

L@&d - 1/ PART - I

Slenesg antssEnéEL allamLwaefl&Eselb. 15x1=15
Qar@asliu_Gaer wron e seild Bsab ghuemLw elomLmus
CoibQshEs GMUSL L alamruiimeaub Carés e(pse|D.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and corresponding answer.
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Qugeiadluim LmewLd <25 LwerL(hdng).
(=) wen iepLIHLGHSS (<) el Bleumyenf]
(@) <1fe B&8 () oamria) Bad)
Milk of Magnesia is used as o
(a) Tranquilizer (b) Analgesic
(c) Antacid (d) Anaesthetic

@ Caudl alevenienGurg Gerssiu@b elmarGous LTHMH Gl6TehHeuesTeuDmIET
agemer LIHHLMLESDG ?

(@) Seriay pme (/) erengmedid

The addition of a catalyst during a chemical reaction alters, which of the following
quantities ?

(a) Entropy (b) Internal energy

(c) Activation energy (d) Enthalpy

anmé Ganyrel QFwepannuieriiyg 9NSEQEHES LWL 2 Carsid :
(=4) Cu (=) Al (8) Zn (/F) Ni
The metal extracted by Hall-Heroult process is :

(a) Cu (b) Al (c) Zn (d) Ni

Gerreu(meuaalnmieT 1.73 BM &bgs @@mqgﬁmm'mﬁulﬁ]mm QubmieTeTgy :
2

(@) [CoCle]™ (<) TiCly (@) [Cu(Nry), [

A magnetic moment of 1.73 BM will be shown by one among the following :

(/) [Ni(CN)4 ]~

(a)  [CoCly]*™ (b) TiCl, () [cu(NHy), " (@) [NieN), ]
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lemeumeemeupmiaT ergy sMwimsts Quirmss werens) ?
(1) menyUY - uefleplLib

(q%éb) L_”TG.DLDLb - L0

(&) WS samrFe FUFGLIUL L SFLD
(/) safl - AT (A

Which one is correctly matched ?

(a) Foam - mist

(b) Emulsion - smoke

(c) Sol - whipped cream
(d) Gel - butter

Qeeu(meuarelpmer erang Cors@n Curs Spsar_ Wflmss swhlama alamarude
Qurg <well allenarene 2 (Heum&@&HD ?

CH3COOH ) = CHzCO0™ o +HT

(aq aq)

(1) CH,COCI (<) AgCl (&) CH,Cl1 (fr) HCI

Which one of the following will cause common-ion-effect when added to the
following dissociation equilibrium reaction ?

= - +
CH;COOH ) = CH3CO0 ™, +H¥ o

(a) CH,COCI (b) AgCl (c) CH4CI (d) HCl

Cgo T UMUUTBEPL W LjdeiTeailed 2 6Term e Qané seliLenLIg).
(<=1) sp® (<) sp® (&) sp>d (FF) sp

Carbon atoms in Fullerene with formula Cg, have hybridisation.

(a) sp? (b) sp? (c) sp>d (d) sp

[ Qg%uqas Turn over
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B, capdiqantmii(ymailen ©limgienaen pasSaGennmn Hlane :
(con) 14 (cop) 12 (@) +6 () +3
The most common oxidation state of Actinoids is :

(0) 14 h) 12 (c) +6 (d +3

9. ﬂmfj)gD} : C,lg,m)f}.a.hr4--lnl-@hle,rnrrbl'_xﬂcj) -on ngngQngL_Gb @{@JL&GUﬂU—‘Lb
arpm ey eor ellena LRSS Gen Brrhu@ESsTH O amsen-4-
Fraotel - gpdy HhdIma).

SITEUOTID : ool gpleamAuLl ent_ob ojefeflud enaml_enr( 2 Caipg @bh&s

LD,
(<21) Gnmm) o) 60116 HY6TsTLD HE[D).

(<21,) SnDMI, SITEVETID ©)yeir (b i, D616 SNTEWTLD Fo DM H&Teor & flwmest
Pt .
A RATAO I

() snDm), SMTEwID [©)iF6 ()b Hem).

(1) gapmy, sryesrd @)y (b oM, Geb &ryesrbd amMlp&Erer &fwmer
PAC AT TS

Assertion : Hex-4-ennitrile on reaction with Di-isobutyl aluminium hydride
followed by Hydrolysis gives Hex-4-enal.

Reason : Di-isobutyl aluminium hydride is a selective reducing agent.
(a) Assertion is {ruc but Reason is falsc.

(b)  Both Assertion and Reason arc true, but reason is not the correct explanation
of assertion.

(¢c) Both Assertion and Reason arc falsc. 7

(d) Hpt.h Assertion and Reason arc truc and reason is the correct explanation
of assertion.
e GREEN GARDEN MATRIC. HR. SEC. SCHOOL
LA_I Perundurai R.S.
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XIl - MARCH 2023
WS germupsaien Qurgeurear < &8nGamhn Hae

(=) +4 (<) +2 (@) +6 (rF) +3
The most common oxidation state of Actinoids is -

(a) +4 (b) +2 (c) +6 (d +3

DM Clan&av-4-mearenpl feé -e L@Cerbu,l el ofaseflud
e L_a i ([H e lleariL(BsE 19 em Brrhu@ssred O amsen-4-
TG -5 SHADS!.

SMTESTLD : @LRGFmiL e Sigiflafwn amant arE NUREERTOET:S

(G LD.

(<=1) Sapm) &M pemmed srreswId Seu).

(<) DM, STreWID @ raw@Hn &M, AT STTERTD G d D& Terr &M W 1 et
Ol EEATNAIN

(&) sapmi, sMrewid @ramHn Seum).

() &mDml, &Trewib @rar(Bb &, Coaib &rrewrnd D HaErer &flwmer
6leT& S LOMGLD.

Assertion : Hex-4-ennitrile on reaction with Di-isobut

yl aluminium hydride
followed by Hydrolysis gives Hex-4-enal.

Reason : Di-isobutyl aluminium hydride is a selective reducing agent.

(a) Assertion is true but Reason is false.

(b)  Both Assertion and Reason are true, but re

ason is not the correct expl
of assertion.

anation

(c) Both Assertion and Reason are false. ~

(d) (E)gfofa};s:::if:) rrtlion and Reason are true and reason is the correct explanation
. GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
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8.

2AsyemiBsaien Qurgeurar <&8nGammp B :
(=) +4 (<) +2 (@) +6 () +3
The most common oxidation state of Actinoids is :

(a) +4 by +2 (¢c) +6 (d +3

gnhm] : Qgpé;@’u—ﬁk—wehsm{mt_rﬂeb - oLnCemiylame oiauleflwib
GU)@?LGB)U@LG'UT dlemariu®sd Qe HrrmuGSsTed Qamsean-4-
ree -5 SMmEDS!.

SIJ6ETOTLD : @LgGemiu,’ enld gflefuib amanl () @m Caihs o6&
(G LD.

(<=1) Samdm) &fl emmed sMrevord UM

(=) BaDmI, STrewID @reawrHb &, T SMTETD Fo DD H&TeT & wimen
elleT&sL0606.

(&) smpmI, sMrewId @) e (Hb S6U).

(FF) Sapmi, snrewwrd @ream(ib gf, Guaib sryewrd DM DaTer &M mer
eSS MG LD.

Assertion : Hex-4-ennitrile on reaction with Di-isobutyl aluminium hydride
followed by Hydrolysis gives Hex-4-enal.

Reason : Di-isobutyl aluminium hydride is a selective reducing agent.
(a) Assertion is true but Reason is false.

(b) Both Assertion and Reason are true, but reason is not the correct explanation
of assertion.

(c) Both Assertion and Reason are false. ”

(d) Both Assertion and Reason are true and reason is the correct explanation
of assertion.
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11.

12.

13.

14.
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leteu(meuaTeumdley a8l s sdlieiEdHE @ apewrs LwaUhEDS ?
(=) Xe (<) Ar (@) Rn () Kr
Which of the following is used as the source of gamma rays ?

(a) Xe . (b) ‘Ar . . (¢) Rn. (d) Kr

L epanl rsen Wenpenamuder (SHE) emf L& ULmeTg)
(=) —1.0 (<) 0 (@) 1.1 () +1.0
The emf of Standard Hydrogen Electrode (SHE) is

(a) -1.0 (b) O (c) 1.1 (d) +1.0

2 Carsbd isperer GamnuT(H STerliLiib Ligsbd :
(1) NaCl (<) AgBr (@) AgCl (fF) FeO
The crystal with metal excess defect is :

(a) NaCl (b) AgBr (c) AgCl (d) FeO

Getreu(meuaeupled eThg SMIb DNA -6l Gevsmev ?
(<=1) wyméled (<24,) <=ilq-eneoTen (@) engl GLmensen (FF) &euTenaen
Which of the following base is not present in DNA ?

(a) Uracil (b) Adenine (c) Cytosine (d) Guanine

Geneumeuameupmer sraflund Gupdrhsefier CrgCulL fsefld emp erdi
QummerTal LweTUheugl ergl ?

(<=1) Cgseme (=) r5Cgem-1, 2-anL <6

(@) erssenmed (/F)  SHlemarmed

Which of the following compound is used as an anti-freeze in automobile radiator ?
(a) Methanol (b) Ethane-1, 2-diol '

(c) Ethanol (d) Glycerol

GREEN GARDEN MATRIC. HR. SEC. Jci®HouUs / Turn over
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15. g@femary <iSasdt <GrmGons odyman®Ler aloafibg GsTOEEGW0

ellener@ummar :
(=) afll sy (=) smiumESlalls jLfleid
(@) &.CLmen () <GBy s Suleid

The product formed by the reaction of an Aromatic aldehyde with primary amines
is :

(a) Schiff’s base (b) Carboxylic acid

(c) Ketone (d) Aromatic acid

L@ - II/PART - II

&ML : gCsamib oum elamésEnss elenWalssa b, 66T eregm 24 - 8@ SL_L_MLILDTES

ellen_well&saib. 6x2=12

Note : Answer any six questions. Question No. 24 is Compulsory.

16. crelauens HTFGH@ET L TUINES, Barllsly oD JgHng ? AS5S5®SW
SMGI66EHEE ([ THSHESTL(HSET H(HS.

Which type of ores can be concentrated by froth floatation method ? Give two
examples for such ores.

17. SGsreansaflen LiamsmaT 6r(Lpg)s.

Write the uses of Silicones.

18. omane|s Cemomselen emow e CTRTLIFENET UETUIMI&HEHELD.

Define the term central atom in co-ordination compounds.

19. FCC 90@s gmliye srenrliL@in lassailen eramranisamsudened STSSE (D

Calculate the number of atoms in an FCC unit cell.

A GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
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20. Qevanr flev-amr @ el sar GTETMTE GraoTan ?
What is conjugate Acid-Base pairs ?

21. eflevanGaugompy BEFHHET CTEIMTE) TG ?
What are catalytic poisons ?

22,

SALCLrenan ereueummy LGrmIGUenTa WomHmeITL ?

How will you convert acetone into propane ?

23. anTTGLOTEISET GTETMTE GTET6H ? 2 &TTamTLD &(TH.

What are Hormones ? Give example.

24. Yamaumd eleareufllansuler 2 6ter A Hmb B Campisamed seamLbls.

CH;CH,NO, Sn/HCI S A CH,COCI B

Identify the compounds A and B in the following sequence of reactions.

CHACH,NO, —SYHCL | o CHyCOCL |, g

U@g - 11/ PART - III
@Iy : gCaemid om) edlamEsEné@ ellanwalsse . efer eramr 33 -&(& SL_L_MLILONS

allenL_wel&&Ha]D. 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25. JoGesaym LGrmley Qsm@liy pepow upbl @oluY eums.

Write a note on Fischer tropsch synthesis.

26. anrpsa@mUGsH, YsgamiGsd - Geupdlne Qe Cuwrer Caupun@ser
gCsayd ppaTplene GT(LpSIs.

Write any three differences between Lanthanoids and Actinoids.

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
A Perundurai R.S.
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27.

28.

29.

30.

31.

32.

33.

[Pt(NO,)(H,0)(NH,),]|Br eratin ienemredled 16tme (moueameuneannd & atorL_1 5.
(1) anw 2 Coons nami/ <wef

(<4) Siementay ereter

(&) oww 2 Cars Swelufern <&68HmGeanhn eramr

For the complex, [Pt(NO,)(H,O)(NH,),|Br identify i fo.llowing. '

(a) Central metal atom/ion

(b) Co-ordination number

(c) Oxidation number of central metal ion

GamebGamm’av Ller @rlenl. SiH&@ Luph GOLIL| cuamys.

Write a note on Helmholtz electrical double layer.

Wemermd LIGSS® LDHOI oG alllsameT 6r(Lps)s.

State Faraday’s Laws of Electrolysis.

FeAL_LT wefl eenbler enwliamus S(HS.

Give the structure of a Zwitter ion.

arsdled A G el ereueurn eriHle) HALCLT HELCLLLTS wrhpieumis ?

How will you convert Ethylacetate into Ethylaceto acetate £

o away LgaTL QUTbLaeT eramuane wiremal ? GG oThSSISST(Hs6 §mhs.

What are food preservatives ? Give two examples.

R (PSS uena ellanamureng) 99% Hlenn 2 LW Cgeneuwimar Grrwreng) ieued aner
90% Hepeuen_wip Coemeuwran Crrsemsts Cume Qrearh WLREG ek s (Hs.

Show that in case of first order reaction the time required for the completion of
99% is twice the time required for the completion of 90% of the reaction.

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
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U@&S) - IV/PART - IV

@MUY : JemesiSg, eleTTé S @& ELD eflenLweflsseyid. 5x5=25

Note :

Answer all the questions.

34. (&) Yooggmiennwinsse pepulaer @ ThSsEST_ HLer efeuflésaLb.

9{60605)

Yereumid Camroriseie anmemeasafer < &fnCarmm Blenaanuis
sant(h 1914 S&e] L.

(1) OF, (2) 1,04
Hereumid ellenesanet LTsd Cauis.
(1) P,+NaOH+H,0 —

(2) XeFg+H,0 —

(3) Cu+siLim H,SO, —

Explain zone refining process with an example.

(1)

OR
Find the oxidation state of Halogen in the following compounds.
(1) OF, 2 1,6,
Complete the following reactions.
(1) P,+NaOH+H,0 —

(2) XeFg+H,0 — GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.

(3) Cu+conc. HySO, — PH: 9486379461, 8344933377
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U@&Sl - IV/PART - v

&PILY : Sememsg oflaréses ermas ;1h aflenLwiefisay i 5x5=25
. Xo=

Note : Answer all the questions.

(<=1) (1) Wemeu(mLib Gamriseie
& (1914 &6 b,

anreganseilen 68 mGamhn Hlenevanwid
(1) OF, (2) L,0,

(i)  Qereumid efenearsanar LTEE Caiis.
(1) P,+NaOH+H,0
(2) XeFg+H,0 —

(3) Cu+eLr H,SO, —

(a) Explain zone refining process with an example.

OR
(b) (i) Find the oxidation state of Halogen in the following compounds
(1) OF, (2) 1,04

(ii) Complete the following reactions.
(1) P4+NaOH+H,0 —

(2) XeFg+H;0 -

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377
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35. (=) (i) e GunGraflen eug.euanwLlienL efeufl&sa] .
(i) esHe CunGrl Gangemenamuwt eT(HSIS.
ENTIVV:
(<) o CGoorgs sriGuramardsaie &mrarliu{HID Qe amr11 96 &6t an D& ED &
efeuf&saLD.
(a) (i) Describe the structure of Diborane.
(ii) Write ethylborate test.
OR

(b) Describe the nature of bonding in metallic carbonyls.

36. (=) aal & O LATTRIsSD G@PUT(HSmar 6laTEES.
S|6V6VG)
(=) (1)  Yhw eileand@ Qrear() e STTenTRISET $(HS.
(ii) Gsmed usal@sd wHmb Qriur GgThlele g PLRGE 6TeUaTD
vweruhdlmg ?
(a) Explain Schottky and Frenkel defects.
OR

(b) (i) Give two examples for zero order reaction.

(ii) How colloids are used in tanning of leather and in Rubber
industry ?

37. (1) Yevaural -Bissd eldésmear soaum el aielésaib.
6060
(<) () <afleder, Lfe Symi elmeanse ol upeugleome. gar ?
(i) enBevTET-2-amBaNE-6 eraleumn SuUTNESLILGEDS ?
(a) Derive an expression for Ostwald’s Dilution Law.

OR

(b) (i) Why aniline does not undergo Friedel Craft’s reaction ?

(ii) How nylon-2-nylon-6 is prepared ?

@ GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
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38. (=) (i)

6622

Gluemsmeyigemaniq (BB Wroms. LFme erelalmm) sumiasiuGSng ?
(i) Gsril epl e GnsEs eleaewls upH fn GHUL THSIS.
{60608
(<=4) CeHgO erevmm aumitiumenl 2 el w Gamwowbd (A) B e FeCly -9 L GiT 261G
Bpsmnss smAng. Cemwbd (A) SbCwretume|L e demaryfpg (B) ererm
Cemngasu|bd, Cogibd Zn -gresLen edamaryfipg (C) erem Gemongend |
SMmADGI. A, B, C Camomsmer sam_plbg ellamarsamer e (pSis.

(a) (i) How Malachitegreen is prepared from Benzaldehyde ?

(ii) Write short note on Thorpe nitrile Condensation reaction.
OR

Compound (A) of molecular formula CgHgO gives purple colouration with
neutral FeCl,. Compound (A) reacts with ammonia to give Compound (B)
and it also reacts with Zn dust to give Compound (C). Identify the Compounds
A, B and C and write down the equations.

-00o0-

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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